
BMW G310R 2016-

© by MRA-Klement GmbH – 6/2018 4025066158102

INSTALLATION INSTRUCTIONS

https://www.motorcycleid.com/mra/


INSTALLATION INSTRUCTIONS
BMW G310R 2016-

Thank you for buying a MRA Windshield.
Read this manual carefully and check the parts list for completeness before you begin. We recommend

that you have your screen fitted by an authorised workshop.

Number Article Article No.. Required tools
1 MRA screen --- Allen key socket driver, 6 mm

Torque wrench
Allen key 3 mm

1 Two brackets 11046
2 Allen screws M8 x 40 mm 11108
2 Washers, black 16x8x1 mm 11036
2 Spacers, black 10 mm 10776
2 Allen screws M5 x 30 mm 10566
2 Spacers 15 mm 10636
2 Spacers 6 mm 11038
4 O-rings 10992
2 Screws M5 x 20 mm 10673
4 Plastic washers 10635
4 Rubber nuts M5 10629

Fitting the screen to the motorcycle:

1. Place your motorbike on a level surface.
Caution: Lay a cloth or similar over the tank for protection!

2. Loosen the rear screws of the handlebar clamp and unscrew the front screws, firmly holding the
handlebars in place (P1).

3. Carefully lay the handlebars onto the tank and ensure that the cloth protects it.
4. Insert the sleeves in the holes (P2).
5. Install the brackets at the handlebars using the M8 x 40 screws and washers. Do not tighten the

screws yet; you will still need to adjust the brackets (P3).
6. Insert the rubber nuts into the holes on the brackets.
7. Insert the M5 x 30 mm screws with the plastic washers through the upper mounting holes in the

screen. Slide the 15 mm spacers and the O-rings on the screws from the inside – the O-ring serves as
an installation aid.

8. Now insert the M5 x 20 mm screws with the plastic washers through the lower mounting holes in
the screen. Place the 6 mm spacers with the O-ring onto the screws from the inside.

9. Align your MRA screen with the centre of your motorbike.
10. Now bring the handlebars into their proper initial position. Tighten the front clamping screws (with

the brackets) using the torque wrench set to 19 Nm. The rear screws still have to be loose!
11. Tighten the rear screws using your torque wrench set at 19 Nm.
12. Attach the supplied edge protection to the screen as shown in P4.

After installation, check that all of the screws are tight; tighten them up if necessary. Repeat this at
regular intervals. Clean the screen with water, neutral soap and a sponge. Do not use solvents, alcohol or

spirits to clean the screen as they will damage it.



P 1

P 2



P 3

P 4

Discover other motorcycle windshields & fairings on our website.

https://www.motorcycleid.com/windshields-fairings.html



